@7/,
%/u\*ﬁ%ﬂa{ﬁ = BE-/Z\\Q

CAMEL PRECISION CO., LTD.

Internal Gear Pump

AN ks S B g R

www.camel555.com.tw



IGC

Internal Gear Pump
R EErEEE

SHEEREDER SYMBOL

IGC - 4F - 032 -R - 20

—|_ | ERETEE Design No.
E#E75M ( EHEREISEER )

Direction of Rotation (View from shaft end)
R: IREFET7SME R: Clockwise
L: S0 L: Counterclockwise

HEE: c.clrev Displacement

ZHERGI Mounting Type

F: 1SO type flange %R8 L:ISO type foot HIEE

E: DIN type flange %R S: Secondary Pump ZHTUEERE
RIITEES: Series No.

HIESEiRRSRY Internal Gear Pump Series

IGC: &%, == 175 kgf/lcm? Max. 175 kgf/cm?

EmiFit: FEATURE:

1. R R TE2500 rpm 1. Max. speed could be up to 2500 rpm

2. [REE » REENIRIBRIR 2. Low noise to provide a comfortable working environment

3. {EARE - EET)E 3. Low pulsation, Smooth rotation.

4. EAREERIHE  WRES 4. High overall efficiency through axial & radial pressure

5. BENRD - FErpiEEEEZ compensation.

6. FLEEEE20 to 125 cclrev 5. Good suction attribute and wide oil viscosity range.

7. RFEIEEEES0 rpm » BIT5ZEZR140kgflcm*(REEE /] 6. Displacement form 20 to 125 ccirev.

8. FUERENESER A Em 7. High efficiency. 50 rpm can reach 140 kgf/cm? to hold
pressure.

8. Servo-Energy saving system for injection molding machine
is applicable to IGC series.

Page C 1




IGH - 4F - 32 -R - 20

:

EmFE:

. =SE7], 52 =300 kgficm?.

NS TERNSES TIEBREEK.
. EIKE , FEFIE .
BEORBaOEORFHE, WEES
CBENED, FERHEHEERET,
. mEEERE, #t3.5c.c F125c¢.c.

o O~ W N =

7. LIS REERGER, EREIEOED.

IGM, IGH

Internal Gear Pump
R EErEEER

SRS SYMEOL
RETER Design No.

EEE75E ( BEAISOEL)

Direction of Rotation (View from shaft end)
R: IREFE75E) R: Clockwise

L: BEFET S0 L: Counterclockwise

BEE: c.c./rev Displacement

ZERTI Mounting Type

F: 1SO type flange &R L:1SO type foot FAIEE

E: DIN type flange ;%R S: Secondary Pump ZHTVRERE

ADUSHES: Series No.
AESEMERARY Internal Gear Pump Series
IGH:

H: &%, &% 300 kgf/cm?, H:Series,Max. 300 kgf/cm?
IGM:
M: 2%, &5 250 kgflcm?, M:Series,Max. 250 kgf/cm?

FEATURE:

1. High Pressure, max_pressure 300 kgf/cm2.

2. Extremely low noise.

3. Low pulsation ,Smooth rotation.

4. High overall efficiency through axial & radial pressure
compensation.

. Good suction attribute and wide oil viscosity range.

6. Displacement from 3.5 t0125 c.c. and multiple

stage pumps are available.

(4]

Page C 2




IGC, IGH, IGM

Internal Gear Pump
(@.7/D, NI S RS

BAER / Technical Data ;-

B3 REE E=EN HETOEE BB A ue] M|
MODEL Theoretical MAX . Pressure kgffcm? Shaft Speed WEIGHT Inlet Port Qutlet Port
Displacement c.c/rev. FFiECcont. B Peak. Min. Max. Kg
20 140 175 200 2500 9.5 1-1/4" 3/4”
IGC-4 25 140 175 200 2500 10.0 1-1/4" 314"
32 140 175 200 2500 10.5 1-1/4" 34"
40 140 175 100 2200 19.0 1-1/2" 1"
IGC-5 50 140 175 100 2200 20.0 1-1/2" 1"
64 140 175 100 2200 21.0 1-1/2" 1"
80 140 175 100 2000 39.0 2" 1-1/2"
IGC-6 100 140 175 100 2000 41.0 27 1-1/2"
125 140 175 100 2000 43.0 2" 1-1/27
3.5 220 250 600 2000 2.4 1/2” 1/2"
5 220 250 600 2000 25 1/2" 112"
e 6.5 220 250 600 2000 2.6 172" 172"
8 220 250 600 2000 2.8 1/2” 12"
10 220 250 600 2000 4.8 1" 112"
IGM-3 13 220 250 600 2000 5.0 i 1/27
16 220 250 600 2000 5.3 1" 112"
20 220 250 600 2000 9.5 1-1/4" 3/4”
IGM-4 25 220 250 600 2000 10.0 1-1/4" 3/4”
32 220 250 600 2000 10.5 1-1/4" 3/4”
40 220 250 600 2000 19.0 1-1/2" 1"
IGM-5 50 220 250 600 2000 20.0 1-1/2" 1"
64 220 250 600 2000 21.0 1-1/2" 1"
80 220 250 600 2000 39.0 27 1-1/2"
IGM-6 100 220 250 600 2000 41.0 2" 1-1/2"
125 220 250 600 2000 43.0 2" 1-1/2"
35 250 300 600 2000 2.4 1-1/2" 112"
IGH-2 5 250 300 600 2000 2.5 1-1/2" 112"
6.5 250 300 600 2000 2.6 1-1/2" 1/2”
8 250 300 600 2000 2.8 1-1/2" 112"
10 250 300 600 2000 4.8 1" 12"
IGH-3 13 250 300 600 2000 5.0 1" 112"
16 250 300 600 2000 5.3 i 1/27
20 250 300 600 2000 9.5 1-1/4" 3/4”
IGH-4 25 250 300 600 2000 10.0 1-1/4" 3/4”
32 250 300 600 2000 10.5 1-1/4" 314"
40 250 300 600 2000 19.0 1-1/2" i
IGH-5 50 250 300 600 2000 20.0 1-1/2" 1"
64 250 300 600 2000 21.0 1-1/27 1"

Page C 3




IGC, IGH, IGM
Internal Gear Pump
(@7/D, NS SRS

B MBRIE/ Delivery & Power Rating -

5 @ESJTEMS 0+ EDELIVERY Limin, A5 7JPOWER INPUT(kw)
S,
= Fh MODEL URE' 7 70 140 210 250 300 7 70 140 210 250 300

IG#-2-35 |3.59|3.48 [3.39 |3.28 | 3.24|3.16|0.13| 0.61| 1.10| 1.60 | 1.89 |2.26
-5 5.32|5.09 495|479 | 470| 461 |0.14| 0.77 | 1.44 | 2.22 | 2.58 |3.13
-6.5 |6.54|6.36|6.20 |6.04 | 594|582 |0.16| 0.95| 1.78 | 2.74 | 3.19 |3.87
-8 8.18|7.95|7.74 | 7.55 | 7.42| 7.28 |0.16| 1.17| 2.20| 3.38 | 3.93 |4.77
IG¥-3-10 |10.1/9.95| 97 | 94 | 93| 9.1 |0.17| 1.56| 2.68| 4.17 | 4.96 | 6.0
-13 13.1113.0(12.6 |12.4 | 12.2| 12.0 |0.26| 1.98| 3.50| 5.25 |6.17 |7.58
-16 | 15.7|15.3|15.0 |14.7 | 14.5| 14.2|0.32| 2.32| 4.15| 6.23 | 7.33 |9.01
R IG#%-4-20 |20.6|20.1[19.7 |19.2 | 19.0| 18.7 |0.42| 3.07| 5.45|8.08 | 9.61 |11.5
-25 | 25.6(25.1|24.6|24.1|23.8|23.5|0.48| 3.72| 6.76|10.1 [ 11.9 [14.3
-32 |32.6/31.5/30.9|30.3|30.0|29.6|054| 462|8.50|12.6 |15.0 |18.0
IG¥-5-40 |40.7|39.8 (389 |38.1|37.6|37.0| 1.1 | 6.06| 10.7|16.0 | 18.9 |23.3
-50 |50.2|49.2|48.3|47.3|46.8|46.1| 1.2 |7.28| 13.3|19.7 | 23.3 |28.0
-64 |63.9|625|61.4|60.2|595|586| 1.3 |9.14| 16.9|25.0 | 30.3 |35.6

IG*-6-80 [81.0(79.5|77.8(76.0|750|73.8|[198| 11.6|21.8| 32.2|38.4 |46.6
-100 (101.5/ 99.4 | 97.7 | 95.9 | 94.7 | 93.0| 2.42| 14.5| 27.4| 40.5 | 48.1 |57.6

-125 [125.9(123.1]120.9(118.5|117.2|115.4| 2.94| 17.8| 34.0| 50.0 | 59.6 | 71.4
IG#%-2-35 |540(5.24|5.11 [4.97 | 490| 4.80|0.19| 0.94| 1.65| 2.41 | 2.83 [3.39
-5 7.85|7.65|7.44|7.25|7.13| 6.98 |0.22| 1.15| 2.17 | 3.25 | 3.78 |4.60
-65 | 9.1 |9.58(9.35|9.13 | 899|8.84 |0.23| 1.44| 2.68 | 4.01 | 4.67 |5.67
=8 12.2| 11.8 |[11.60(11.35| 11.2| 11.0 |0.25| 1.75| 3.30 | 4.95 | 5.76 | 7.00
IG#%-3-10 |15.2|14.8 |14.5|14.2 | 14.0| 13.8|0.26| 2.27 | 4.07 | 6.10 | 7.26 |8.82
-13 |19.8/19.4|19.0|18.7 | 18.5| 18.2|0.40| 2.89| 5.31| 7.78 | 9.26 | 11.4
1500 -16 | 23.6(23.1|22.6 (222 |22.0|21.7|0.49| 3.39| 6.30|9.35 |11.0 [13.5
rpm IG#%-4-20 |30.9/30.3|29.7|29.2|288|284|0.61|4.61|8.17|12.2|14.4 [17.3
-25 | 38.4|37.7|37.1|36.5|36.1|35.7|0.77| 558 | 10.2| 15.1 |17.9 |21.5
-32 |48.3|47.5|46.7 |45.9 | 45.4| 449 |1.02| 6.93| 12.8| 18.9 | 22.5 |27.0
IG#%-5-40 |61.1/59.9 588 |57.6|56.9|56.2|1.80|9.33| 16.3|24.2|28.7 |35.3
-50 |75.4|74.0|72.8|71.6|70.8|70.0| 2.0 | 11.2| 20.1|29.8|35.4 |425
-64 |95.4|94.1|925|91.0|90.0|89.0| 2.1 | 14.1| 25.5|37.9 | 45.0 |54.0

IG*-6-80 [121.9(119.4({117.2|115.0|113.5/111.8|3.15| 18.3 | 33.2| 48.9 | 58.4 | 70.8
-100 |152.4|149.6|147.3|144.7|143.2|141.3|3.85| 226 | 41.2| 61.4 | 73.0 | 87.5

-125 |188.8(185.4(182.3|179.3|177.5|175.4|4.69| 27.4| 51.2| 76.0 | 90.4 108.0
HFHAELF: Testing Condition SHIB: Oil Temperature 40°c 5 {'EEN3H: Operating Fluid: ISO VG68

1000

MEHEHHIR / Performance Curve ;s
[Eli%% Revoling Speed:1200min™" () _ WE_EFFICIENCY  dB(A) . MEE NOISE LEVEL

{FE)H Operating Fluid:ISO VG68  "*°[~~_] gor

80 | /
h— 50‘ ' |

70;_/ I | L1 1 1 | |
0 100 200 300 0 100 200 250

7] OUTLET PRESSURE (kgf/cm®) B7) OUTLET PRESSURE (kgf/cm?) Page C 4

IG5

______—-,‘ G4
70 — 1

W

IG3

N

e IG2

|

60|

\




IGC, IGH, IGM

Internal Gear Pump
(@./D, MIES SR

® |G -2E xARE (IBSFEhaEE) F3{Model A C @D
Flange Type (Clockwise Rotation) IG*-2*-3.5 107 51 @8.9
- IG*-2*-5 112 53.5 @11
= IG*2*-65 | 116 | 555 | @12
. IG*-2*-8 121 58 @13
7%5‘:\‘ II“ AT Model B E F K N
IG*-2E-* 41 30 20.5 6/h7 18/h7

amsxi2 /
AL INLET FLANGE
SAEJ518b 1/2"

45.5

97.5

4-M8X12
tHO OUTLET FLANGE
SAEJ 518b-1/2"
® |G 3E(F)- AR (IRFFETSEEE) A Model A c @D
Flange Type (Clockwise Rotation) 1G*-3*-10 130 60 @14
IG*-3*-1 136 iFi
. 62 |_ G*-3*-13 63 %)
§ - IG*-3*-16 141 655 | @18
= & O .
g {1 G[}" — | ®5Model B - F K N
" | ® _‘ IG*-3E-* 41 30 225 6/h7 | 20/h7
iy _ IG*-3F-* | 65 38 | 21.25 | 4.76/h7 |19.05/h7
AUOINLET FLANGE/ / L
SAEJ518b-1"
4-M10X15
A B
lE c 5
_- 17.5 E ,_:
Sl | :
il =R -
8“1 I =
AN

HHOOUTLET FLANGE
SAEJ518b-1/2"

4-M8X15

Page 5




IGC, IGH, IGM

Internal Gear Pump
(@./D, NS SR

® |G 4E(F)-xARE (IRFFETSEOE) A Model A c 2D
Flange Type (Clockwise Rotation) IG*-4*-20 164 71 18
paz w2 IG*-4*-25 170 74 @20
E‘ N IG*-4*-32 178 78 @24
> 1O K
~ (@ [p— FIx\Model B E F K N
) o ' IG*-4E-* 72 45 28 8h7 | 25/h7
1 Q i; | IG*-4F -* 78 60 | 27.85 |6.375/h7|25.385/h7
ALJINLET FLANGE / _1—
SAEJ518b-1-1/4"
4-M10X14/

N

tHJSAEJ518b-3/4" 2
OUTLET FLANGE
4-M10X15

14

66.3

47.5
B.
!
{ :=j9.
: o
s et |
|
—=
n
¢ 101.6 Bos1
144
o]
©
|

® |G¥5E(F)-x AR (IBFFEHEEE) B Model A c @D
Flange Type (Clockwise Rotation) IG*-5*-40 199 91 @24
. T IG*-5-50 | 206 945 | @26
| IG*-5*-64 216 995 | @28
\C © K N
N }— [ — A Model B - F K N
5 °© IG*-5E-* 89 50 35 10/h7 | 327
l E(___ﬁ ! IG*-5F-* 85 50 35.33 |7.938/h7 | 31.75/h7

AO

INLET FLANGE

SAEJ518b-1-1/2"
4-M12X1

" A B 210
(] 6, 181
i 26.2 E )
L‘:‘(Dj :l.—— B
°%
JeEE R - — Y s
ol m - H—-— + - >
w " =i
Eﬂ fig
H=O
OUTLET FLANGE
SAEJ518b-1"
4-M10X15

Page 6




IGC, IGH, IGM

Internal Gear Pump
CMD A R

® |Gx6F -xARE (IREFEtoMEE)
Flange Type (Clockwise Rotation)

A Model A C @D
— }— 5 * ok
'l_ 8 IG*-6*-80 242 .5 111.5 @32
42.9 I g
| e L:ff- 1G*-6*-100 252.5 116.5 236
] S 8
& D z| B IG*-6*-125 | 2645 | 1225 @38
HOrH==
N
INLETFLANGE /
SAEJ518b-2"
4-M12X23
, A 100 264
‘ . 6 2286
‘g @D |_§B 1 70
e R I 4 I N
2 f, 1+ 1 il Y =
@ || 20

OQUTLET FLANGE /
SAEJ518b-1-1/4"
4-M12X20

Page C7




IGC, IGH, IGM

Internal Gear Pump
NiESERR

IGH - 4E - 32 -R/IGH - 45 -25/IGM - 35 -16

SHEESCER SYMBOL
SEE" @R Refer to the secondary Pump
RIS Displacement of shaft end pump
BRRYIRES Series No. of Secondary Pump

RIS EERRARYIIENS Internal gear pump series

ClE75E ( HEESEEL)

Direction of Rotation (Viewed from shaft end)

R: IBEFEt 75 R: Clockwise

L: PEFEToE L: Counterclockwise

BISREEE Displacement of shaft end pump
BIRZHESIN Mounting type of shaft end pump

E: {ZFREDIN ;ERE E: DIN type flange only

BUERAVISRES Series No. of shaft end pump
NS EEMRATISRES Internal Gear Pump Series

RE:
ZHRZAIHUWERRARENIR,
EREHERMRUVERBIIRSHER.
RIEMERIR S REEBHIER .

IGH:
H : 3%, && 300 kgflcm?, H:Series,Max. 300 kgf/cm?
IGM:

M: %
IGC:
C : 3%

¥, &= 250 kgflcm2, M:Series,Max. 250 kgf/cm?

Er= 175 kgflcm?, C:Series,Max. 175 kgflcm?
Remark:

The shaft end pump of multiple stage pump should have the largest
displacement. It is also the maximum pressure of all pumps in multiple
pump when the displacement is the same with all pumps.

Likewise the secondary pump should have the second largest
displacement of all pumps.

Page C 8




QMDD

RYE / Dimensions -

IGC, IGH, IGM

Multiple Stage Internal Gear Pump
DIMT\ANESERER

tBRAR JEREA \ Dimensions
BT Model IG%2 IG#%3 IG#4 IG#%5 IG*%6
Displacement| 3.5 | 55| 6.5| 8 10 | 13| 16| 20 | 25 | 32 | 40 | 50 | 64 | 80 | 100 | 125
A 19 119|119 (19 | 18 | 18 | 18 | 20 | 20 | 20 | 22 | 22 | 22 | 26 | 26 | 26
B,D 64 | 69 | 73| 78 | 84 | 90 | 95 | 102|108 | 116 | 138 | 145|155 | 171 | 181 | 193
E 24 | 24 | 24 | 24 | 28 | 28 | 28 | 42 | 42 | 42 | 39 | 39 | 39 | 45 | 45 | 45
3EREEER Y \ Dimensions of Connected Housing
T Model C F G H | J Inlet Flange
No.2 60 22.2 47.6 M8x12 54.5 @20 3/4"
No.3 70 30.2 58.7 M10x14 70.2 @31 1-14"
No.4 70 36 70 M12x20 74.3 340 1-1/2"
No.5 90 50.8 89 M12x20 90 60 2-1/2"
No.6 110 61.9 106.3 M16x23 108.3 76 3"

EE{i] unit: mm

EERERYREA:

No.2, @RS IG*-2E /IG*-2S

No.3, SRS IG*-3E /IG*-3S(2S)

No.4, SRS IG*-4E /IG*-45(3S, 2S)
No.5, AL IG*-5E /IG*-5S(4S, 3S, 2S)
No.6, BRI IG*-6E /IG*-6S(5S, 45)

Page C9

Remark of Connected Housing :
IG*-2E(S)/IG*-2S
IG*-3E(S)/IG*-3S(2S)
IG*-4E(S)/IG*-4S(3S, 2S)

No.2, applicable to
No.3, applicable to
No.4, applicable to
No.5, applicable to
No.6, applicable to

IG*-5E(S)/IG*-55(4S, 3§, 2S)

IG*-6E(S)/IG*-6S(5S, 4S)




IGC, IGH, IGM

Multiple Stage Internal Gear Pump
CMD SHARBASERE

RYE / Dimensions e

MER 5288 \ Dimensions
@ 5+ + -
IG3%5+5,(5+4) E5X Model IG5 1G4
Displacement| 40 | 50 | 64 | 20 | 25 | 32
A 213 | 220 | 230
B 99 |102.5(107.5
G 114 |117.5[1225| 96 | 99 | 103
TQ’M* D 222 | 229 | 239 | 189 | 195 | 203
60
3 %’
&
90 INLET FLANGE
@ SAEJ518b-2-1/2"
D A 81 ‘ 263
c B ‘ 224.6 | 422

. ’_i. N g {E:’g
b j:g C‘E Q/+\7 E §
AN
{B i dJ @

) =
@32|.0.025

Page C 10




IGC, IGH, IGM
Multiple Stage Internal Gear Pump
CMD B S

RYE /Dimensions

® |G%6+6,(6+5,6+4) HRAR T E708 \ Dimensions
AT Model IG3#6 IG5 1G4
Displacement| 80 | 100 [125 | 40 | 50 | 64 | 20 | 25 | 32
A 261 | 271 | 283

B 120.5 [125.5|131.5
C 140.5(145.5(151.5| 124 |127.5|132.5| 106 | 109 | 113
D

R 5 DMAGRE di 272 | 282 | 294 | 232 | 239 | 249 | 199 | 205 | 213

B

110 INLET FLANGE
0 SAEJ518b-3"
D A 91 , 300
& 2 ‘ 2475 | 4-@26
— |12 111180 |
41 15
- 7
- 70 2
= .8 |
wro|®
. —gijiy N 8| = =
295 &
~
[Te) ~
) P
= | ©

Page C 11




M.

R{EER:

1.

FREEH: T SDINSS 2R 5B 383 HLPH, FEZRIS0 46-68.

EERIEEE:  20-100 cSt.
BEAEEIFEE: 1500 cSt.
=/EE: 15 cSt.

2 IREBEEEE: 5 to 70°C.
3.0RABE/D: Absolute 0.8-1.3 kgf/cm’.
43828 : WA LCEESS 100um.

AR :

CHHEiESS : 25um.
EEHERE ., NAS 1638 SE0#R.
RHE:2M [sec.
BE M [sec,
CFHE:3M /sec.

EE FEH SR EAE IS EET].

SREAFEESE, RIS EEHMUEREERE,
ZREFNMSERRENETAEZEIEIN.
FERRARECEHOOESS.

HFE s R H EE RO o &N,

ER2LZERDAAR, BFEFREE IR EFEBUS R

HERR.

8. R EERFILHIFRCEEETEETINT FOERL.
0. RHERENEERDLIZDEE.

10. B R A ZUEE) (RSB e R sREsR R R B s

ZHRREEENCEREERDEEHE.

a {EEENEDERHES 5O,

b. REEF I EIME < HEEEE.

B ESCIE RN, B2,

c. RESBIRE RN TEE,

d. EREEZE R (TE)), BEFREREEH.

e TERFEEEHAT, BiEARPEVEREER,
(EEBGF A EELTAIRERES.

fERRERE, EEREREHRIISHRNT,
FEILAE R S AR R R .

g. MBS R IZIEEENENE D FREESE
KESE, AltEERARTEERNAT TEE
WiTEEEE 00/ TR EREERSE, TERER
fEI5R BREE R R R 2 BR.

h. REREIRFEEEREERSECERAERLZ.

IGC, IGH, IGM

Internal Gear Pump
R EErEEE

Operating Instruction:
1. Hydraulic Qil:
Use the hydraulic oil viscosity as same as ISO 46-68.
(Viscosity over 90 ¢St). The hydraulic oil cleanness should be
kept within NAS 1638, the 9th degree.
Optimal Operation Viscosity : 20-100 cSt
Maximum Operation Viscosity: 1500 cSt.
Minimum Operation Viscosity: 15 cSt.
2. Operating temperature: 5 to 70°C.
3. Suction Pressure: Absolute 0.8-1.3 kgf.’cm2
4. Filter:  Suction strainer 100 um.
Return filter: 25 ym.
Hydraulic oil cleanness: NAS 1638 the 9th degree.
5. Flow speed: Suction Line: 2 M/ Sec.

Pressure Line: 5 M/sec.

Return Line: 3 M/sec.

6. Rotation:
Do not cause any axial or radial pressure to the drive shaft.
Use flexible coupling. Tighten closely the pump
shaft and motor shaft. Do not use improper way toinstal the pump,
such as hitting. Be aware of the rotating direction of pump and motor.
Any other request of installation, please consult with the suppliers.
7. Bleed the air when pump runs for the first time.
8. Please make sure the pump is on no-load state when start and stop operation.
9. Do not fasten too tight when being connect with the suction line and pressure line.
10. Start-up operation: Following the instruction and all other requirements before start up
operation.
a. Make sure the rotation of electric motor is correct.
b. Check the oil level of oil tank before starting and filling the oil when it is insufficient.
c. Repeat power on and off when pump is first running until the pump starts to supply oil.
d. Pump should be run under no load state when starting operation.
e. Before starting , run the pump under no-load state, bleed the air out of the circuit
to prevent noise and cavitation.
f. Be aware of the temperature variation: Once the temperature of pump is apparently
higher than oil, Stop pump running and check all equipment closely.
g. When starting running of pump at the first time or after repair, whole hydraulic
system are liable to be contaminated. Please run the pump under no-load state
and replace or clean all filters after 100 hours.

h. Operation of hydraulic system should be handled by professionals.

Page C 12




Page C 13




Page C 14




BEEAR AESERR

NS T

8 73 [ 4= &l 7
[ e opcenen v pury et ooy~ W enaiGaeeing |

ERBHKROBBERAT
CAMEL PRECISION CO., LTD

NE : BPHALEEFIBs45R

OFFICE: No. 64, Yu-Men Road, 407, Taichung, Taiwan

TR - SRR S " ER 45555

FACTORY: No. 455, Sec. 2, Chung-Zow Road, Tenchung, Chang-Hwa, Taiwan
TEL: +886-4-24615707 FAX: +886-4-24618842

E-mail: sales@camel555.com.tw http://www.camel555.com.tw



=]
SAMEL PRGSO o113

SINCE 1981

Internal{GearJPump]

RlEEELER

http:// www.camel555.com.tw



IGP

_ Internal Gear Pump

P & B B R

SHEREC SR SYMBOL

B 5% / Model Code

1GP-4F-32-R-20

—‘7 ——— F&R&EIR Design No.

TeE7s5E (FHEfSmERY)

Direction of Rotation (view from shaft end)
R: IERF£t 5@ R: Clockwise
L et 5 L: Counterclockwise

BEE c.c./rev Displacement
IGP-4: 16c.c.~32c.c. / IGP-5: 32c.c.~64c.c. / IGP-6: 80c.c.~125c.c.

BOFRE Shaft Type
F: ISO type ZEHE/L F: ISO type
E: DIN type A&t E: DIN type
%5USKES . Series No.

IGP-4 / IGP-5 / IGP-6

ANIESERER 25 . BRARSEREK
Internal Gear Pump Series: For Inverter or Servo motors

Emis1E / Feature

. ER=EIRDZE 3,000 rpm

IREE , RFBENIRIERIE

EIRE , EEFIE

CRakEEEBEAEE , WEBS

BEAORS , FERMEHEREZ

. BFE#E 16 £ 125 cc/rev

RERR - WX, JEIREBYR

A ZHMARBESER , ERESSEEKS
. AE@BEAREREAEREE 2 &R

. Max. Speed could be up to 3,000 rpm.

. Low noise to provide a comfortable working environment.

. Low pulsation,Smooth rotation.

. High overall efficiency through axial & radial pressure compensation.
. Good suction attribute and wide oil viscosity range.

. Displacement from 16 to 125 c.c./rev.

. Efficient pressure output with low RPM.

0 N o LB~ oW N

. Multi-connected pump combination available for manifold hydraulic

circuits.

O 00 N O U1l A W N B

9. IGP is suitable for Hybrid Servo Energy Saving system.

01



IGP, IGH

_ Internal Gear Pump -Z)
A S Eiw R

F: fiiE R / Technical Data

BRI EE AL RAR Weight without flange

- — e e
M%EI:DEIQEL . Tfﬁiﬁal MAX%F—;;:EUE bar ;ﬁtﬁsﬁﬁ W?é%ﬂ InIQEort Ou’itl:lli’ort
Displacement c.c./rev. & Cont. BRI Peak. Min. T Kg
16 250 270 400 | 3,000 9.0 1-1/4" 3/4"
20 250 270 400 | 3,000 9.5 1-1/4" 3/4"
IGP-4
25 230 250 400 | 3,000 10.0 1-1/4" 3/4"
32 210 230 400 | 2,800 10.5 1-1/4" 3/4"
32 250 270 400 | 3,000 14.0 1-1/2" 1"
40 250 270 400 | 2,800 14.5 1=1/22 18
IGP-5
50 230 250 400 | 2,500 15.0 112" 1"
64 210 230 400 | 2,200 16.0 11/ 12
80 280 315 400 | 2,400 34.0 2" 1-1/2"
IGP-6 100 250 300 400 | 2,100 36.0 or 1-1/2"
125 210 250 400 | 1,800 38.0 2" 1-1/2"
B Tfﬁi%:al MAX%:?EUZJG bar ﬁﬁattﬁlsgﬁ W§§4T AL i
MODEL Displacement c.c./rev. 8 Cont BRI Peak Min. Max. Kg Inlet Port Outlet Port
3.5 250 300 600 | 2,000 3.1 142" 142"
G 5 250 300 600 | 2,000 3.2 1=1/2° 1/2"
6.5 250 300 600 | 2,000 34 1-1/2" /2"
8 250 300 600 | 2,000 3.5 151/2 1/2"
10 250 300 600 | 2,000 5.9 1 1/2"
IGH-3 13 250 300 600 | 2,000 6.2 e 1/2"
16 250 300 600 | 2,000 6.4 1" 1j2"
20 250 300 600 | 2,000 9.5 {=14 3/4"
IGH-4 25 250 300 600 | 2,000 10.0 1-1/4" 3/4"
32 250 300 600 | 2,000 10.5 1-1/4" 3/4"
40 250 300 600 | 2,000 19.0 Kl f
IGH-5 50 250 300 600 | 2,000 20.0 151z 1
64 250 300 600 | 2,000 21.5 1-1/2" 1"

03



IGP

_ Internal Gear Pump
A S e imoR

4 BERR4R / Performance Curve

. E57F Speed:1500 rpm 818 Speed:1500 rpm

(=4 —

£ %0 H5 144 Characteristic Curves : 3 30

= 45 = 25

o — IGP-4+-16 2

40 20 =

g 15 — IGP-4+-20 g s AT A

3 a0 — IGP-4+-25 = 10 P

B 25 — IGP-4+-32 25

a2 20 . B o

= 0 50 100 150 200 250 300 B E &4 Testing Condition : R 0 50 100 150 200 250 300
[E271 Operating Pressure [bar] S#8 Oil temperature : 40°C £ 5 [E27] Operating Pressure [bar]

{EEh3H Operating Fluid : ISO VG68

= $E52% Speed:1500 rpm $29% Speed:1500 rpm

g 133 H5 144 Characteristic Curves : E :g

(e} —

2 80 — IGP-5+-32 8 40 -

g 70 — IGP-5+-40 g 20 ——

g e — IGP-5+-50 5 20 - —

i 50 — IGP-5-64 210 =

H 40 M 0

= 0 50 100 150 200 250 300 855 15 4 Testing Condition - &/ 0 50 100 150 200 250 300
[E27) Operating Pressure [bar] E8 Ol temperature : 40°C + 5 [E27] Operating Pressure [bar]

{EEh3H Operating Fluid : ISO VG68

= E57% Speed:1500 rpm 87% Speed:1500 rpm

£ 132 #1442 Characteristic Curves : B 32 A

(e = //// ~

> 160 — IGP-6+-80 2 e0 P g

2 s — IGP-6+-100 g 45 =

8 130 — IGP-6+-125 5 30 =

a —

w115 c 15

3 100 M 0

= 0 50 100 150 200 250 300 350  jgjt(Efk Testing Condition : /& 0 50 100 150 200 250 300 350

7 Operating Pressure [bar] #8 Oil temperature : 40°C + 5 71 Operating Pressure [bar]
{EE)SH Operating Fluid : 1ISO VG68

04



IGP

_ Internal Gear Pump

P & B B R

SNEYR<F / Measurement

IGP- 43X (g5 &t 75 @i/ Clockwise Rotation)

e

G ] 0
B | PR _-0.021

{B o 5 -%.036

—

O S ‘
| //6 o DER
— Shaft Size
}\DINLEFFLA-E# _—I\
SAEJ518b-1 1/4 "
LK
1745
38 A 26 M
B % 9 -

13.8

an
||
~O 1
o
|
[\

@

o A — bt
U/ 2
OO 3
imE s /
o
HIOUTLET FLANGE C

SAEJ518b-3/4" L -F

66

/// \\\ ﬁ?iﬁ Model IGP-4
@ @ - Displacement 16 20 25 32
é; B N A 93 08 104 113
| | B 12 12 15 18
| c 22 22 o) 22
\@ @/ D 475 475 47.5 47.5
\} % E M10x15  M10x15 M10x15  M10x15
F 32 32 82 32
& 30.2 30.2 30.2 30.2
2z Model IGP-4E IGP-4F H 58.7 58.7 58.7 58.7
R @25 @25.385 K M10x15  M10x15 M10x15  M10x15
s 8 6.375 M 56 56 56 56
P 26.8 27.85 Q 45 45 45 45

06



|IGP
Internal Gear Pump

P & B B R

SNEYR<F / Measurement

IGP- 5X (lEfF&t 73 @i/ Clockwise Rotation)

F

2

| -
0

¢L‘

AINTLET FLANGE
SAEJ518b-1 1/2"L—K

3.5 20

% 6

Ol

>
(o)

0
-0.051

O
o

121

8.6L4

>
I~

{.

H{CIOUTLET FLANGE
SAEJ518b-1" ) =

62

18

~

19

PR -%Aozs

0
S -0.036

IV

&

R~

Shaft Size

210

181

166.7

78.06

47

N

17.5

J\

/
©

f2z0 Model IGP-5
~ Displacement 32 40 50 64
g 3 A 119 125 132 143
— B 15 15 20 23
j C 26.2 26.2 26.2 26.2
D 475 52.3 52.3 52.3
E M10x15 = M10x15  M10x15  M10x15
F 32 35 40 40
G 30.2 36 36 36
230 Model IGP-5E IGP-5F H 58.7 70 70 70
R @32 @31.75 K M10x16 = M12x20 M12x20  M12x20
S 10 7.938 M 69 69 69 69
P 35 35.33 Q 50 50 50 50

07




|IGP
Internal Gear Pump

P & B B R

SNEYR<F / Measurement

IGP- 63X (l[EfF &t 77 @i/ Clockwise Rotation)
oF _G —
_\ 0
E_ PR _-0.03
S -%051
O\ ©
NI
[# @ DR
& / Shaft Size
ALIINLET FLANGE
SAEJ518b-2" o
L-K
385 A 22 M 264
@\ y, : 2286
i \ Q " % K- m N
g [epY
o o (| )
N — oo o\ )
& W B o = \%
Fe ¢ N AS)
P @ |5
Y / o @
H4CIOUTLET FLANGE C 20
SAEJ518b-11/2"
L-F
100
F2={ Model IGP-6
\ Displacement 80 100 125
> = A 148 158 170
B 23 27 30
\ [ | —
Y \ 7 € 36 36 36
\J D 70 70 70
__J E M12x12  M12x12  M12x12
F 45 50 50
G 42.9 42.9 42.9
2= Model IGP-6E IGP-6F H 77.8 77.8 77.8
R @40 @44 45 K M12x12  M12x12  M12x12
S 12 11.11 M 88 88 88
P 43 49.43 Q 74 74 74

08



IGP, IGH

Multiple Stage Internal Gear Pump -Z)

RIS E R

RIS 5E 85 / Model Code

SHEREE SR SYMBOL

IGH-4E-32-R-4/IGH-4 S-25/IGH-3S-16

|: 2885 "R Refer to the secondary Pump

A

&3R#EE Displacement of shaft end pump
BRZEFIL Mounting type of shaft end pump

S: Secondary Pump ZHE IR

%R %5355 Series No. of Secondary Pump

A S EwER %5385 Internal gear pump series
EXFIEIEF, Mounting flang holes

# None : 24, 2-hole mounting
4 : 44l 4-hole mounting (Only for IGX5 & IGX6)

HEdg 75 m (REEIS@ER Z)

Direction of Rotation (View from shaft end)
R: IEFFET /5@ R: Clockwise

L: #fF8t Mm@ L Counterclockwise

BIZRHEE Displacement of shaft end pump

B3R B/0\R1E  Shaft Type of end pump
E: #DIN type A#l&hL  E: DIN type only

AR 258%%E Series No. of shaft end pump

iR HB / Remark

SR ZAIRDAREARENR , BRERE
ARIRMAZBNESHR , FETMERARE
FUIBRIZR -

AESERREZ53RE Internal gear pump series
GHor Igp FlEEeREIE %38

Please See Page 2 and 3 for Technical Data

The shaft end pump of multiple stage pump should have the
largest displacement. It is also the maximum pressure of all
pumps in multiple pump when the displacement is the same with
all pumps.Likewise the secondary pump should have the second
largest displacement of all pumps.

11



IGP

IGP 2FLHXFf / 2-hole Mounting Flange

Multiple Stage Internal Gear Pump -Z)

SN IESE R

Egnls &l IREE]

o 6P = i N
ﬁ—ﬂ]w[fm,°r[@_@-|1. Eﬂ_w °° | H/
e 50 el IE: ]

9 /O i | o o

- | ,

AEIINLETFLCNGE 2 - — |
IGP 27LEXfft R~F / IGP 2-hole Mounting Measurement
fiz2t Model IGP-4E IGP-5E IGP-6E
fiz2t Model IGP-4S IGP-4S IGP-5S IGP-4S IGP-5S IGP-6S
Displacement| 16 = 20 25 32 | 20 25 32 40 50 64 20 25 32 40 50 64 80 | 100 125
A 154 159 165 174 - - - 190 197 208 - - - - - - 225 235 247
B 725 75 78 825| - - - 825 86 915 - - - - - - 96 101 | 107
(@ 815 84 87 915| 94 97 10151075 111 116.5] 186 192 201 217.5 2245 235.5 240.5 250.5 262.5
D 165 170 176 185 | 176 182 | 191 207.5214.5 2255| 104 107 1115 1175 121 [126.5 129 134 140
FIEDPER T / Housing Measurement
fz2t Model IGP-4E IGP-5E IGP-6E
22t Model IGP-4S IGP-4S IGP-5S IGP-4S IGP-5S IGP-6S
E 70 90 110
F 36 50.8 61.9
e 36 89 106.3
H @40 @60 @76
M 72.15 82 110
N 72.85 99.28 132.4
K M12x23 M16x23
L SAEJ518B-2 1/2’ SAEJ518B-3"

12




IGP

IGP 47LEXFft / IGP 4-hole Mounting Flange

SN IESE R

Multiple Stage Internal Gear Pump -Z)

D B
it e T
S ~ 0 ' -
Eﬂ_g wal o é:‘i Fﬂ“t\ﬂ?(
TURITH LT et

IGP 4FLEXFft R~F / IGP 4-hole Mounting Measurement

22t Model IGP-5E IGP-6E
23t Model IGP-4S IGP-5S IGP-4S IGP-5S IGP-6S
Displacement | 20 25 32 40 50 64 20 25 32 40 50 64 80 100 125
A - - - 190 197 208 - - - - - - 225 285 247
B - - - 82.5 86 91.5 - - - - - - 96 101 107
C 94 97 101.5 107.5 111 116.5 | 186 192 201 2175 2245 2355 2405 2505 2625
D 176 182 191 2075 | 2145 2255 | 104 107 1115 1175 121 | 1265 129 134 140
EE R R~ AL EXB R~F
Housing Measurement 4-holeMounting flange Measurement
Azt Model IGP-5E IGP-6E fz2 Model IGP-5E IGP-6E
fzz{ Model | IGP-4S IGP-5S | IGP-4S IGP-5S IGP-6S #2z{ Model | IGP-4S IGP-5S | IGP-4S IGP-5S IGP-6S
90 110 M 26.3 299.5
F 50.8 61.9 N 224.6 247.5
G 89 106.3 P @22 @26
H @60 @76
Q 82 110
R 99.28 132.4
K M12x23 M16x23
L SAEJ518B-2 1/2” SAEJ518B-3”

13




Internal Gear Pump

P & B B R

¥ {E$573 / Operating Instruction

1. REEH: FEDINSE2REIFHZHLPHE , FERISO 46-68 -

EEEBRIEME: 20 - 100 cSt -
EAEERE: 1500 cSt -

B/NFEE: 15¢St -
2. BERE#HE: 5 to 70°C -
3. IRAEA: Absolute 0.8 - 1.3 bar -
4. @Rz WA OMBIEEE 100pm -
[BldBEaR: 25um -
EHEZRE , NAS 1638 594k -

5. fiE: HME: 2 m/sec -
EAHE: 5 m/sec -
EfRE: 3 m/sec -

6. BHE: EHMAESASEMEONMTEN
FERENHNE  RNSEEIHLEEREE -

ZERASERAREAELAEZBAS -

EZEHLOEAES -
HitnERRFRIREEHHFERORSEH -

7. RZZELFOAR , BEFEIREERRERBBLRE

=]
FIERRERE

ZERHER -

8 RZHMEBRFLAFECEEZERAHER N T HESZ -
9. WHERENEZEEINBRE -
10. EERYVIREE: TEEMN LEREFRI2AREERBIRERTE

HEERBEEHBRIER -

a BMERNFEZTEREEH O -
b REBRBIENEZHESEEEN  FAERBLERR, BESE
CREBBENRERHNR T ES -
JEBRERBR(TE)  BERRARMEH -

e ERABBHEA , BRARINERZIIFR  EEBRASTELE

IR RIRE -
BRAESE, ERFTEAEBES AR,
BRI ERE -

BUZEILEE TS

g RERBEEEREIERBBBAREELAETE  RIERER

BEFRSHMN N EE W EEE 100/
BEAERERERRRBEAGCZER -
h REREBZRIFEHEREERSEZEEAERZ -

SEERIBRSR  EEBRRE

16

=

w0 N

. Hydraulic Oil:

Use the hydraulic oil viscosity as same as ISO 46-68.

(Viscosity over 90 cSt). The hydraulic oil cleanness should be kept within NAS
1638,the 9th degree.

Optimal Operation Viscosity : 20-100 cSt.

Maximum Operation Viscosity : 1500 cSt.

Minimum Operation Viscosity : 15 cSt.

Operating temperature: 5 to 70°C

Suction Pressure: Absolute 0.8-1.3 bar.

4. Filter:

Suction strainer: 100um.
Return filter: 25um.
Hydraulic oil cleanness: NAS 1638 the 9th degree.

. Flow speed:

Suction Line: 2 m/sec.
Pressure Line: 5 m/sec.

Return Line: 3 m/sec.

. Rotation:

Do not cause any axial or radial pressure to the drive shaft. Use flexible
coupling. Tighten closely the pump shaft and motor shaft. Do not use improper
way to instal the pump, such as hitting. Be aware of rotating direction of pump

and motor. Any other request of installation , please consult with the suppliers.

7. Bleed the air when pump runs for the first time.

8. Please make sure the pump is on no-load state when start and stop operation.

9. Do not fasten too tight when being connect with the suction line and pressure

line.

. Start-up operation: Following the instruction and all other requirements before

start up operation.

a.Make sure the rotation of electric motor is correct.

b.Check the oil level of oil tank before starting and filling the oil when it is
insufficient.

c.Repeat power on and off when pump is first running until the pump starts to
supply oil.

d.Pump should be run under no load state when starting operation.

e.Before strating , run the pump under no-load state , bleed the air out of the circuit
to prevent noise and cavitation.

f.Be aware of the temperature variation: Once the temperature of pump is
apparently higher than oil , stop pump running and check all equipment closely.

g.When starting running of pump at the first time or after repair , whole hydraulic
system are liable to be contaminated. Please run the pump under no-load state
and replace or clean all filters after 100 hours.

h.Operation of hydraulic system should be handled by professionals.



Internal Gear Pump

P & B B R

ERZARN / ZERR5A

ERZAA :

EREETERIERRFANZE -
ERREBRR , HWRBRREEKEREAR -
eERESHEEEE -

CEREHART , THEBARERBRTNDEE -
BHEIFEHRRNTES -
 EENELRL AT HHRARATNESR -

MR ARESE 200 RNERLEE Eiﬁﬁﬁﬁﬁ E
. —EERFABERNIEIFHE , FREER
ERtERERFRE -

B

1 EYREER , ROESERRPLTHE , EEERF
LEAREREMERNERE -

2. EREBRNEEBERESSMET  SAHNERANER ,

oo\loxg.n-bw[vg—l

EREEEEER,

BENZE K

HHRRENAER(AMLLRERESL , RMAZENEBMERT) ,

BIRBAPABEREELTEBUHENRF,

BRRRENRNEE

MERERHAR :

BREGER  BENIERUDRA R HEEREE -
@A

1. FABMRELRAI S BMRE RINEEAIE |,
KRB AR TR EARE -

2. FRERRVEBERRARRZR
B/, AAERTRE -

RS HRAT B,

B RHE , EUFFEREZE

EEERR

1. HARNZE #EREBEWELHAZTBREEIFNAEERE

2. /E7)</\jﬁnq:ﬁ S EZIRE NESE -

3. HRELEBEERBRIENANL TEE -

4, Eiﬁﬁﬁﬁélﬂfﬁ | BERRRBIRIFEEBARE -

5. REFEhREEM RINBEFRMHMA N ERAEE LW -

6. ERENLZEEEREBRZA , W EMTEHNREREMN:MNEE
) -

7 REGEBRHEEARRBREERANBEHE -
8. BR—MEEREIISHZE -

ARET ARSI AR AR

ENERAESERRTRERALE  RAESCIBUTSEE

PR 1ERAEIIRERER :
FREERZ EIRR SRR nEle  EREMNMUEE TIEE

EHE  AHNENERGMBERBE) 2B EENIER T okEE
FEYBE(EL

17

Commissioning instructions Project /
Processing instructions

Commissioning

1. Check whether the unit has been carefully and correctly mounted.

2. Fill with pressure fluid only using a filter with the required minimum retention
rate.

3. Observe the arrow indicating the correct sense of rotation.

4. Start up the pump in no-load operation and run without pressure for a few
seconds to ensure sufficient lubrication.

5. Never allow the pump to run without oil.

6. The pump has to be bleed before building up pressure against a valve. Wear is
covered by running dry.

7. If the pumped oil still contains bubbles of air after appr. 20 seconds, investigate
the cause.

8. Once the target operating values have been reached, check the pipe

connections for leaks. Also check the operating temperature.

Venting

1. Prior to initial commissioning, we recommend filling the pump housing with oil.
This enhances operating safety and prevents wear in the event of unfavorable
mounting conditions.

2. On initial commissioning, drain off oil containing bubbles during pressure-less
circulation of the oil by carefully opening the pressure flange (it may be
advisable to provide a splash guard). Only when the emerging oil is free of
bubbles should the screw union be tightened with the specified tightening

torque.

Characteristic curves

When configuring the drive motor, please pay attention to the maximum

possible application data as indicated in the characteristic curves.

General

1. Pumps supplied by us have been performance and function tested. Any
attempts to modify the pump in any way will result in loss of warranty cover!

2. Repairs may only be performed by the manufacturer or by authorized dealers

and branches. No warranty can be accepted for unauthorized repairs.

Important remarks

1. Installation, maintenance and repair of pumps may only be performed by
suitably qualified and authorized personnel who have received the relevant
instruction.

2. Pumps may only be operated in accordance with the specified ratings.

3. The pump may only be operated when in flawless condition.

4. Before performing any work on the pump, always depressurize the system.

5. Any conversions or modifications of the pump which affect safety or functional
characteristics are not permissible.

6.Ensure that the necessary protective gear (such as coupling safeguards) is in
place and that existing safeguards are not removed.

7.Always check the firm fit of all fastening screws (observe the specified
tightening torque).

8.Ensure that the generally applicable safety and accident prevention regulations

are observed.

Project processing instructions
When using internal gear pumps, we recommend paying particular attention to

the following information:



P & B B R

ERZAR / ZEFRA

IRESE:

1. EABESEHRWER L, ARNEIRERE REZRHE , S8R
WMITHENIREEZER /N (KF2~3%) , I, EXFRERENTE ,
ERNIRSETELRRIIESEESSZI10 dB(A) -

2. ERMRELARER  BEEERAER  ERERBRAOZSHR ,
DUBERIREMNEHRRNES -

BREN 24 -
FiE + RFERE « BBFE + AF

1. B A EASEURE RSO ZES -

2. BERRARNELENBFARERLE - %

3. BEEREMBFLIEELBHZFBOE -

4. ZEEBWBRNEBREGELSHOQEN  BE @
FHRBEREIREA L - l

JHAE

1 REHE  HELEEHRAEERER -
2. HELEEHEEREERN , VERBME LS -

BB REE:

. WTABEER LRERNETF -

. BEERSAME(ESDIN 061), ROUHREE -
BEEGEHE REBEGEARAREL~LS m/s) .

. BEERBENFEA 2bar -

. R EFASEREREE , BRRENERZSR -

aa M W N

EISRETREE

1. BREPZREHEEAERE TR ERER A HEOE 24
b, TEERAEREBEZBREFEABR ImllL -

2. EHELERFERE L °

3. ZEMERVWEIBNHORBAOMNRNEEEEES -

_ Internal Gear Pump

18

Commissioning instructions Project /
Processing instructions

Characteristic values

All specified characteristic values are dependent upon production tolerances
and apply under certain outline conditions.

Please note that variance is accordingly possible, and that certain outline
conditions (such as viscosity or temperature) and also characteristic values can

alter.

Noise

1. In the case of internal gear pumps, the excitation of valves, pipelines, machine
parts etc. is minimal due to the low discharge flow pulsation (appr. 2 — 3%).

2. Despite this, however, under unfavourable circumstances the sound pressure
level at the mounting location of the unit can be 5 to 10 dB(A) higher than the

value for the pump itself.

Drive system

Electric motor + pump mount + coupling + pump

1. No radial or axial forces may be permitted to act on
the pump drive shaft.

2. The motor and pump must be precisely aligned.

3. Always use a coupling which will permit
compensation for any shaft displacement.

4. When mounting the coupling, avoid applying axial
force, i.e. never attempt to press or knock into place

using a hammer or similar instrument.

Fluid tank

1.Adjust the useful volume of the tank to the operating conditions.

2.Never exceed the admissible fluid temper- ature. If necessary, provide a cooler.

INLET

Pipes and connections

1. Remove the protective plug at the pump

2. We recommend using seamless precision steel pipes in compliance with DIN
2391 and detachable pipe connectors.

3. Select a suitable clear width for pipes and connections (intake speed max.
1-1-5 m/s).

4. Absolute admission pressure max. 2 bar.

5. Carefully clean pipelines and screw unions prior to mounting.



Internal Gear Pump

P & B B R

Commissioning instructions Project /
EFZEA / Z&RHA Processing instructions

BiEEs Pipe routing recommendation
EEEANRRERNENBEESR , EERARADBERNEREE 1. Return line fluid must not under any circumstances be permitted to directly
ZoESREE T RiE e - re-enter the system via the intake pipe, i.e. ensure the greatest possible
distance between the intake and the return line pipe.

A EEY 2. Return line pipe has to be under oil level at all times.
TR ERSH - S : .

3. When assembling pipelines, ensure that the suction and pressure seal is
1. BEER 68# = 46# REH - completely intact.
2. AEREENRERZESHER , BFEMR DB RASEBEYR
3. REBLERARERRNKER , BERRNESIZHENE - Filters

Wherever possible use return or pressure filters (use suction filters only in

o] . conjunction with vacuum switches / dirt accumulation indicators).
ZRAE

Pressure fluid

— 1. We recommend using 68# or 46# hydraulic oils.
E— NP 2. Different oil types must not be mixed, as this can result in decomposition and a
—_— reduction of lubrication capability.
i 3. Depending on the operating conditions, the fluid must be renewed at certain

1 [ [EHHEE] | | 1 intervals. When changing the fluid, the tank must be cleaned of residues.

Mounting positions

19



ERBEHEROBERAT

CAMEL PRECISION CO., LTD

A7 apmEEEEME4MR

OFFICE: No. 64, Yu-Men Road, 407, Taichung, Taiwan

TEL : +886-4-24615707 FAX :+886-4-24618842

IRE : BERRE PSR MR —ER4555%

FACTORY: No. 455, Sec. 2, Chung-Zow Road, Tenchung, Chang-Hwa, Taiwan
E-mail: sales@ camel555.com.tw http:// www.camel555.com.tw



	Internal_Gear_Pump
	cover.jpg
	01.jpg
	02.jpg
	03.jpg
	04.jpg
	05.jpg
	06.jpg
	07.jpg
	08.jpg
	09.jpg
	10.jpg
	11.jpg
	12.jpg
	13.jpg
	14.jpg
	end.jpg

	첨부 #2. Catalogue_IGP 내접기어펌프 (CAME)

